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N.B. .— (1) Attempt A/l questions.
(1)  All questions carry equal marks.
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1. Multiple Choice Questions : 10
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(2) Which of the following is not a phase of business cycle ?
(a)  Prosperity (D) Revival
(0 Depression (d Law
TATTIeh! I 3T SR ehrel e ?
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Index number is used for measuring .................
(a)  Atmosphere Pressure
(b)  Density of Liquidity
(0 Value of Money

(d) Electrical Resistance
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“Supply creates its own demand’. This statement stated by :
(a9 J. B. Say (b) J. S. Mill

(0 David Ricardo (d)  A. Marshall

“qeer WA "l @ e war’!, § f9em woh s ?
(2 S = (07 BRI = [

(0  <=RIe Rered (d) 3. 9mtad

Which of the following is not a method of estimating national
income ?

(a) Output Method (b) Import-Export Method
(0 Income Method (d) Expenditure Method

GTCAeeh! hIUT ST STl |9 havdret dgat el 2
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(v Which of the following is considered as economic year ?

(a) 1st Jan. to 31st Dec.

(b) 1st Jun. to 31st May

(0 1st Mar. to 30th Apr.

(d) 1st Apr. to 31st Mar.

Tefiedeh! IV ST e Tl S ?

(& 1 9H. d 31 fe&.

() 1SFd31H

(90 18T 31 s

(@ 1 Uf%a d 31 7=
(vi)  Marginal efficiency of capital means .................

(a)  Rate of interest

(b)  Rate of loss expected

(0 Rate of profit expected

(d All of the above.

weadrEl faard 9T al IS cveeeennee A
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‘Cash balance approach is not related to ....................

(a9 Adam Smith (b) Keynes
(0 Marshall (d) Pigou
‘Tra oo gfteshior’ &1 ot Hadia el ?
(@ reH foy (b) &4

(o0 ¥ria (@) fuq

As change in income it also changes in investments, it is called..............
(a)  Fiscal investment

(b)  Autonomous investment

(0 Monetary investment

(d) Induced investment

ST B0 IR aR. St a9 9Gad el woeeeennen. U

o (a)

(a) Tocita Taere

(b)) TE@ A

(0 W% Taaueh

(d) IRG T[aave

Total National Income is divided by total population is called ..................
(a) Personal income

(b) ~ Money income

(o Real income

(d)  Per capita income

THY TRE I TR ARHEIT WA STHAT oo fored.

()  FKTG S

(b) T S
(o CIESERSI |
(d) TIER SO+

B3AFOF5C836BBASCCEC750B3A8AFBCSA



WT

( 5 ) S—297—2018
(x ‘The purchasing power of money’, who has written this book ?
(a)  Prof. Tausing
(b)  Prof. J. S. Mill
() Prof. Fisher
(d) Prof. Marshall
‘o oRfgT Ot @ffe A @ U9 o foRen 2
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(b . Jug. f7a
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(d) W. ORE

(Theory)

What is the price index number ? What are the difficulties in its

construction ? 10

~

fohad fHeeeh WU & ? d dIR H{0A STSHUT hivedl 2

Or
(feram)
Explain the methods of computing national income.

T Iq= T 9Gdl T .

Explain the Keynes trade cycle theory. 10
gl MR Fehral Hga e &

Or
(feram)
What is Multiplier ? State the leakages in multiplier.
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4. Write short notes on any fwo :
(1) Marginal efficiency of capital
(11 Per Capita Income
(ii1)  Acceleration
(ivy  Functions of money.
dferq fem forr (FvcEl €M)
(1)  vicadrEl faam v
() TER A
(ff) &R
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